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Timebase Trigger Display Cursors Measure Math An: s Utilities Help

File Wertical

I
Measure P1rms{C1) P2:rms(C2) F3:period(C1) Fd freq(C1) PafregiC2) P&:meaniC4)
value 4511V 954 mv - - - =41 my
' ity i,

X1= 12.68186ms AX= 13.84218ms
X2= 26.52404ms VAX= T72.2430Hz

TELEDYNE LECROY - ‘Waiing for Trigg:~
Illustrazione 1: startup - power supply is 5Vin, Vout 1,15V Rload = 0,50hm
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Measure P1rms(C1) P2:rms(C2) P3.period(C1) Pdfreq(C1) Pafreg(Cz) P&:mean(C4)
value 4905V 1.154 W — — 58.095904 kHz 21 mv
status v v R iy R v

2.00 Vidiv
-7.780 V ofst

TELEDYNE LECROY

Illustrazione 2: after start transition - it seems that SW doesn't swith never. I can't see switch on SW
output -

1120V

0 mv|

imebase -59.2 ps|
20.0 psidiv] Auto 620 mV|
500 kS 25 G5/5|Edge  Positive
X1= 1591996 us AX= 0.0ns
X2= 1591996 ps 1/AX= —
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